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2550 ;HHET 0 264
2560 &= EHT 1 1010
2570 K EHT 0 97
9999 MER X ET 5 6039
3010 X#FHT 0 1082
3020 ;ELiTHT 1 1027
3030 _EEFHT 1 878
3040 & _LET 0 142
3050 R AT 2 2312
3060 HESTHT 0 499
3070 HBREHT 0 529
3080 HHRHT 0 498
3090 H A EHT 0 471
3100 HHFHHET 1 502
3110 EHeALHT 1 497
9999 /\ FERX &t 6 8437
3510 £/F LHT 0 197
3520 27 T 1 393
3530 2R THT 0 1066
3540 Z= B KHET 1 429
3550 AEFHT 0 854
3560 &= T ERAT 0 306
3570 & T AT 0 835
3580 F|LIFrHT 0 534
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3590 EHT 0 17
9999 S HKXEt 2 4631
4010 21| RET 0 346
4020 {E&HT 1 93
4030 5HT 1 248
4040 = HEAHT 1 258
4050 7K EHT 1 518
4060 E5Z4 HAT 0 394
4070 JtJRHET 1 193
4080 =;T;HAMT 0 243
4090 55 jERHT 0 339
4100 g FFOAT 0 151
4110 JtFFET 0 187
9999 &M XET 5 2970
4510 EREE—ZEHT 1 763
4520 EREE — /AT 1 203
4530 EREE =Z5HT 0 213
4540 EREEIUZEHET 0 173
4550 EREE R ZHT 0 123
4560 EREE/NEHET 0 105
4570 EREEHZHET 0 161
4580 EREE/\ZFHT 0 105
4590 EREE N ZEHT 0 168
4600 AR+ ZHT 0 223
4610 EREE+—ZHHT 0 264
4620 AR+ —FFHT 0 392
9999 AREFERXET 2 2893
5010 FAFNH AEHT 0 248
5020 RRF0BAELET 0 227
5030 RRF0[RI{—HT 0 262
9999 RRFIMXET 0 737
5510 b R HET 1 230
5520 = HhHET 0 671
5530 #4'= HT 1 526
5540 wy ZERT 0 281
5550 EFEHT 0 63
9999 ER X5t 2 1771
6010 FEIHET/MER 0 113
6020 [EHET o 0 125
6030 FEIRT &I 0 105
6040 Bz FFHT 1 226
6050 JI|EHATE 0 166
6060 JI|EHATF 2 131
9999 FEERXET 3 866
6510 HZEAFBHET 0 25
6520 H &= A KIEHET 0 217
6530 HZEAFTHET 1 102
6540 HZEAILUTHT 0 201
6550 B =AM 2 NET 0 97
6560 HZEAIEILET 0 139
6570 H R AIEFHT 0 147
6580 HZAEHT 0 96
6590 HZEARKMET 1 58
6600 B Z A HHT 0 86
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6610 HEA L FGHT 0 46
6620 HZEAF T 0 59
6630 HZE AT FHET 0 95
6640 HE A EitslT 0 37
6650 B ZASHET 0 2
6660 HZ A RLHET 0 30
9999 HEAKRXE 2 1437
7010 — &M O ET 1 178
7020 — R AHT 0 258
7030 = R IRHNET 0 114
7040 — BT KEFHET 0 221
7050 — R 7 H I ET 0 120
9999 — R&XEt 1 891
8011 SRAETFGHERLY 0 69
8012 IR AHTFHERA 0 140
8013 Y AHTFEER (& 0 84
8021 R AHETZFEKLY 0 87
8022 R AHETIEKA 0 4
8023 IR AHTIEKIL 0 10
8031 JRAHTH ALY 1 189
8032 IRAHTHAA 0 12
8033 FAETH AL 0 16
8041 R AETHELIFZL 0 58
8042 R AHETELIFA 0 31
8043 IR AHTELIR L 0 19
8044 YR AHETHELIFIZ 0 30
8045 IR AHTELIR (X 0 50
8050 IR AHT A 0 172
8060 IR AHTFT 0 139
8070 AHTER 0 142
8080 Ik AHT &k 0 61
8090 I AHTH;EE 0 47
8100 JRABIH/{% 0 24
8110 IRAHTJII 5= 0 58
8120 R ARHETERER 1 97
8130 JRAHTH L 0 95
8140 IRABTEFRKT 0 135
8150 IR AHTEFRK L 0 87
9999 IRARK X ET 2 1856
9010 F THTRKEH 1 656
9020 FTHTEER 1 403
9030 F THTHEH 2 1282
9040 F THTHERRH 2 1497
9999 FT#XEt 6 3838
9110 SERT T H L 0 611
9120 $RATH L 0 284
9130 RETH B 0 141
9140 SFEET T4 0 455
9150 $RHT L§5 2 532
9160 SRHETER4T 1 813
9170 $ERTAH 1 1002
9180 FRMETER 0 648
9190 #EHRTZ O 0 240
9200 $EHTEFIH 0 229
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9210 $RAT = H 0 409
9220 SEETHH 2 654
9230 $EHTE M 1 738
9240 $EHETIEE 0 275
9250 SEHETALFrith 0 675
9999 FEXET 7 7706
9310 E[FHET:AR 0 219
9320 E[ZHTIL 0 251
9330 FE[AT/INE 0 160
9340 R [ZHTRY 3 435
9999 H[G#HXET 3 1065
9410 RETT & 0 408
9420 RHETHHE 0 225
9430 RETFER 0 145
9440 RETAEF 0 11
9450 RHETHEIR 0 20
9460 RET{_HE 0 31
9470 RETER 0 7
9480 RHETHER 0 57
9999 RixXEt 0 904
99999 &t 62 67808



